
LT2180 Tractor Page 1 of 72
Air Cleaner

www.mymowerparts.com

For  Discount Cub Cadet Parts Call 606-678-9623 or 606-561-4983Cub Cadet Parts Manual For Model Lt2180 Tractor
Full download: http://manualplace.com/download/cub-cadet-parts-manual-for-model-lt2180-tractor/

This is the cut pages sample. Download all 72 page(s) at: ManualPlace.com

http://manualplace.com/product/cub-cadet-parts-manual-for-model-lt2180-tractor/


LT2180 Tractor Page 2 of 72
Air Cleaner

Ref # Part Number Qty DescriptionS/P/F
1 BS-691561 Base, Air Cleaner1 /P
2 BS-692081 Gasket, Air Cleaner1 /P
3 BS-394018 Filter, Air Cleaner Cartridge1 S
4 BS-691985 Knob, Air Cleaner1 /P
5 BS-692079 Retainer, Air Filter1 /P
6 BS-692539 Screw, Cleaner Mounting Strap1
7 BS-690872 Screw, Cleaner Mounting Strap1
8 BS-692153 Strap, Air Cleaner Mounting1 /P
9 BS-691577 Shield, Carburetor1 /P

10 BS-272490 Pre Cleaner, Filter1 S
11 BS-692097 Cover, Air Cleaner1 S
12 BS-807084 Screw, Air Cleaner Base2
13 BS-690743 Duct, Air1 /P

www.mymowerparts.com

For  Discount Cub Cadet Parts Call 606-678-9623 or 606-561-4983



LT2180 Tractor Page 3 of 72
Battery, Electrical Components And Switches

www.mymowerparts.com

For  Discount Cub Cadet Parts Call 606-678-9623 or 606-561-4983



LT2180 Tractor Page 4 of 72
Battery, Electrical Components And Switches

Ref # Part Number Qty DescriptionS/P/F
1 629-3067 Wire Harness, Main1 S
2 710-0168 Screw, Hex Cap, 3/8-16 x .501 /P
3 710-0751 Screw, Hex Cap, 1/4-20 x .6252 /P
4 710-0936 Screw, Truss Hd Tapp, #6 x .622
5 712-0271 Nut, Hex Sems, 1/4-202 /P
6 712-0349 Nut, Hex, #10-321 /P
7 712-3010 Nut, Hex, 5/16-18 GR52 S
8 721-0342 Gasket, Silicone1 S
9 723-04016 Strap, Battery Retainer1

10 783-0462 Bracket, PTO Switch Retainer1 /P
11 725-0340 Cover, Terminal Black1
12 725-1346 Nut, Ignition Switch1 S
13 725-1347 Cap, Ignition Switch1 /P
14 725-1365 Bulb, Indicator1 S
15 725-3243 Fuse, 25 Amp2
16 725-1648 Relay1 S
17 725-3001 Solenoid, Starter1 S
18 725-3007A Cover, Terminal Red1 /P
19 725-3147 Lug, Quick Connect1
20 725-3159 Hour Meter1 S
21 725-3163 Switch, Ignition1 S
22 725-3164A Switch, Interlock (Brake)1 S
23 725-3166 Switch, Snap Mount - Normally Closed1 S
24 725-3233 Switch, PTO1 S
25 725-3166 Switch, Seat1 S
26 725-3237 Cover, Terminal Red3
27 Battery Cable Hardware1

710-3015 Screw2 /P
712-0271 Sems Nut2 /P

28 729-0357 Holder, Fuse w/Mounting Clip2
29 736-0119 Washer, Lock, 5/162 S
30 736-0148 Washer, External Lock, 3/81 /P
31 725-1707D Battery1 S
32 759-3476A Key, Ignition (Set of 2)1 S
33 725-0157 Tie, Self-Clinch Cable4 /P
34 726-0154 Tie, Pushmount9 S
35 726-3055 Clip, Cable9
36 726-0161 Clip, Cable2
37 759-3689 Diode Assembly w/Lead1 S

www.mymowerparts.com

For  Discount Cub Cadet Parts Call 606-678-9623 or 606-561-4983



LT2180 Tractor Page 5 of 72
Blower Housing

www.mymowerparts.com

For  Discount Cub Cadet Parts Call 606-678-9623 or 606-561-4983



LT2180 Tractor Page 6 of 72
Blower Housing

Ref # Part Number Qty DescriptionS/P/F
1 BS-692539 Screw, HexAR
2 BS-692056 Screw, Hex1 /P
3 BS-806545 Cover, Cylinder #11
4 BS-806544 Cover, Cylinder #21
5 BS-690688 Screw Hex1 /P
6 BS-690902 Plate, Back1 /P
7 BS-690677 Screw, Sems2 /P
8 BS-690714 Cover, Starter Drive1
9 BS-690706 Washer, Lock2

10 BS-690757 Cover, Carburetor1 /P
11 BS-690929 Housing, Blower1 /P
12 BS-690908 Cover, Air Guide1
13 BS-690238 Nut, Hex1
14 BS-692067 Screw, Mtg.2 /P
15 BS-691077 Washer, Lock, Internal Tooth1 /P
16 BS-691612 Nut, Hex1
17 BS-691084 Terminal, Ground1 /P
18 BS-690744 Grommet, Cable2 /P
19 BS-691972 Insulator Assembly1 /P
20 BS-807163 Screw, Hex4
21 BS-690451 Clip, Debris1 /P
22 BS-691551 Washer1
23 BS-690750 Cover, Air Guide1

www.mymowerparts.com

For  Discount Cub Cadet Parts Call 606-678-9623 or 606-561-4983



LT2180 Tractor Page 7 of 72
Brake And Control Pedals

www.mymowerparts.com

For  Discount Cub Cadet Parts Call 606-678-9623 or 606-561-4983Cub Cadet Parts Manual For Model Lt2180 Tractor
Full download: http://manualplace.com/download/cub-cadet-parts-manual-for-model-lt2180-tractor/

This is the cut pages sample. Download all 72 page(s) at: ManualPlace.com

http://manualplace.com/product/cub-cadet-parts-manual-for-model-lt2180-tractor/

